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The figures in the margin indicate
" full marks for the questions.

Answer either in English or in Assamese.

L Answer the followmg questlons 1x7=7

Wﬁmm@@ﬁm

(a) What is the value of ionic product of
" water at 25°C?

25°C Teore ﬂﬁamﬁﬂ @Wwﬁsmp
(b) Name one reducing disaccha_ride;

qﬁw.mmﬁam _
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(c) Write the mathematical expression of

Clausius-Clapeyron equation.

§EW%@ﬁwwﬁwmmmﬁ%¢@wwwﬁﬁ_
ferat | | .

(d) Out of formic acid and acetic acid which
. one would you expect to react with

Tollen’s reagent ?

T < 5T wiw B He e o @REIE

SRR Rt tire Riew s e
(e) Draw the i)rimary structure of protein.
2T 212 o15ve o il
| ()l The Gibbs’ phase rule is

) F=C-P+1
(i) F=P-C+1
(i) F=C-P+2
(iv) F=P-C+?2
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“Which one of the following amines will

not show carbylarmine test ?

SER (A6 Al FIRIasiZN Sre s (TR 2
() CH3;NH,

(ii) | CH,CH,NH,

(i) (CH, ), NH

(iv) (CH,4 )2 CHNH2

2. Answer the following questions : - 2x4=8

wers fral ereicaies T frat ¢

(a)

(b)

Write the number of phases and number
of components present in the following
system :

Tﬁm—aﬂ{@mﬂmw@ﬂmﬂ

IGRIE

(1) Ng(g)+3H2(g)-——‘2NH3(g)
(ii) Solution of acetic acid in water

“iTre «fbe after wa

How does the molar conductivity of a
~ weak electrolyte vary with dilution?

Explain.
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(c) How would you convert p-nitrobenzoyl
chloride to p-nitrobenzaldehyde ?

-T2 @I FABTE p-A128 @A ORI 2O
fomca wees Sfal e

(d) Amino acids have exceptionally low K,
and K, values. Why 2

ﬂﬁﬂéﬁhﬁﬁpﬁf{Qﬂ@}{aamwnﬂﬁamﬁ%ﬂ?

3. Answer the followmg questions : (any three)
| 5x3=15

oot fral e el T ¢ (Rt s

(a) What is tertiary structure of 'protein?
Mention different types of interactions
involved in tertiary structure of protein.

1+4=5.

ﬁ’ﬁﬂa%ﬂﬁﬁﬂéﬁﬁwﬁﬁﬂaﬁﬂmﬂéﬂ_ﬁs '
ﬁﬁFKPW§HﬂUﬁﬁ?§T¢ﬁ§ﬂK$?

(b) Draw and explain the phase diagram of
water system. Why is the phase diagram
of water system different from that of
other one component system. . |

2+2+1=5
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wreTeEs ARl B i T | SRR @
@‘ﬂ“ﬁﬂ@ﬂ%ﬁﬁam%ﬂﬂ%%ﬂ? |
(c) Give five pomts each of similarity and

dissimilarity between glucose and
fructose.

gF'G I FEE ABLICT A) S (=]
ferali | ; '

(d) Explain the principle of conductometric
~ titration of a strong acid vs. strong base.

ﬂaw—%www@ﬁﬁﬂmﬂm |
WWWW! | '

(e) At 25°C, the specific conductance of
carefully distilled water is 58.0x107 Sm™!
and the A°m values for H* and OH- ions
are 349.8x10* Sm?mol-! and 198.5x104
Sm?mol! respectively. Assuming that A_

differs very little from A°_, calculate the
ionic product of water at 25°C. '

25°C Taewie ARIA Afee Tt AN [+8
ARSI M9 58.0x 107 S ST H* &1 OH-
ST A -?{fﬂzlﬂﬁﬂ‘m 349.8x10* Sm?mol!
Wi 198.5%x10* Sm2mol™' 1AM A TIF A°_
TR CSEHE A AL AT (ST 25°C THors
AT IR ST N i 11|
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4. Answer the following questions : (any three)
| 10x3=30

wEe ol opERe Sk Tl ¢ (Ricerar fofast)

(a) Discuss how the primary structure of
peptide is determined. :

Cﬁmmmm%mﬁcﬁwmw

A -
®) (i) Eiplain a method of conversion of
- glucose into arabinose. )
P GF GARA G FATEI FIF 96! Twfo
11 1 | o

(i) How is benzenediazonium chloride
prepared ? How is it converted to
‘benzene, phenol and p-hydroxyazo
benzene ? 2+3=5

@ TiReE I 733 R ove
T TA? 2T (I, el = p-
iﬁ*ﬁaﬂamﬁaﬁﬁ?ﬂaaﬁmw
XK

. (c) Discuss the mechanism of the foIlowing -
conversions . / Sx2= 10

woe Al @eaRaERs oty wiena 20 ¢

(i) Benzaldehyde to cinnamic acid
FAEAGRIRTS oA afbets
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(i) Acetamide to methanamine
QBIHARGS RILACsIRACe

(d) What is eutectic point? Draw and
explain the phase diagram of Pb-Ag
system. Write two uses of eutectic
“mixtures. - - 1+(3+4)+2=10

RBHLF [T T2 Pb- Ag@amfﬁﬁﬁ
WW!WW@WWl

(e) (i} What is meant by transport number
of an 1on ? Explain the method of
its determination by moving
boundary method. 2+5=7

A e e & @i sauw
-WWWW?{@W@WW
30 ‘

(i) A moving boundary experiment was
carried out with 0.01M solution of -
KClI (specific conductance = 1.29
Sm™') using CdCl, as the indicator
electrolyte. A current of 5.21 mA
was passed through the tube of
0.230cm? cross-sectional area. It
was observed that the boundary
moved through 4.16cm in 1h.
Calculate the mobility of K* ion.

‘ 3
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cdClLz & Ruyye [ee e e
3@ 0.01 MATOR KCIwR (RF2 =iz
= 1.29 Sm’!) 96K e AR «irw
oo 1 (202 | AN 0.230 cm?
CHADIER M 5.2 1 mA 2RIZBeTs 31
zfee | 3T T O Tore SiRkfEms
'4.16 cm S t2feF | @2 wRfET RS
K* SR S5eTol soie 91 |

(f) Define critical solution temperature.
What do you mean by upper critical

- solution temperature and lower critical
solution temperature ? Explain the
phenol-water binary system. Explain the
effect of impurities on critical solution
temperature. 1+2+5+2=10

P T TaeoR wewl fal | OF wifas wed
Sxeo! IS R Fifes wd Sxes! et & a2
Rre-sI} G Ie ©F 1t 51 | s Tel
CHOR 87T Ssiag S T T4 | -
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